XYZw=95.0443 , 100.0 , 108.8B%,,
a* =500 @' —a’,) Y13
b* =500 ' - b'y) Y3
a' =ay [xy] 13

b’ = by [z 13 Ca
2,=[1/Xpgg 1/3=0.2191
by=—{1/Zped 13=-0.083765,
n = D65 )

Parame:
ter: N

-120 cd
CIELAB D65

Name and chromaticity
Ry sree X=0,64 y=0,33
GgsreB X=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=10!

Be

of the sSRGBcolour space for D65 b
in chroma diagram (a*pgs, b*

r-120

1-000030-L0O

TE421-7A_1




XYZw=96.4228 , 100.0 , 82. 49b*
a* =500 @' —a’,) Y13

b* =500 b’ - b'y) Y13

a =ay [x/y] 13

b’ = by [z 13 Gy
2,=[1/Xpgg 1/3=0.2191
by=—{1/Zpgg ¥3=-0.08376
n = D50 ., G

Parame:
ter: N

r120

-120 Cy4
CIELAB D65
Name and chromaticity
Ry sree X=0,64 y=0,33
GgsreB X=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=10!

Be

r-120

of the sSRGBcolour space for D50 b
in chroma diagram (a*pgs, b*

1-000030-L0O

TE421-7A_1




XYZw=100.932 , 100.0 , 64. GSb*
a* =500 @' —a’,) Y13

b* =500 b’ - b'y) Y13

a =ay [x/y] 13

b’ = by [z 13

2,=[1/Xpgg) 1/3=0.219Gy
by=—[1/Zpge) 13=-0.0837

n = P40

&

Parame:
ter: N

P40

@

*
Qpss
S

:
- e
CIELAB D65 12083
Name and chromaticity
Ry sree X=0,64 y=0,33
GgsreB X=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=10!

B. @

120
Mgy

r-120

of the sSRGBcolour space for P40 b
in chroma diagram (a*pgs, b*

1-000030-L0O

TE421-7A_1




XYZw=109.849 , 100.0 , 35. 58b*
a* =500 @' —a’,) Y13

b* =500 b’ - b'y) Y13

a =ay [x/y] 13

b’ = by [z 13

2,=[1/Xpgg 1/3=0.2191
by=—[1/Zpegl Y3=- oes

n =A00

Parame:

F120 ter: N

CIELAB D65 129 )
Name and (:hromatlutye
Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary colour,SYW
of the sSRGBcolour space for AOO
in chroma diagram (a*pgs, b*

r-120

1-000030-L0O

TE421-7A_1



XYZ#=100.001 , 100.0,, 100.0p* Parame

a* =500 @' —a’,) Y13 X120 ter: N

b* =500 p' - b',) Y13

a =ay [x/y]13

b’ =b, [z 13 Gy 4 R

2,=[1/Xpgg 1/3=0.2191 d

by=—[1/Zpgg] 13=-0. 0837(9 g a*

n=EO00 ' AE00 ¢ Dgs
-120 ¢, N 120

CIELAB D65
Name and chromaticity

Rysrea X=0,64 y=0,33
GgsreB X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,,=10!

Be

r-120

of the sSRGBcolour space for EOO b
in chroma diagram (a*pgs, b*

1-000030-L0O

TE421-7A_1




XYZw=98.0718 , 100.0, 118. 2@*
a* =500 @' —a’,) Y13
b* =500 b’ - b'y) Y13
a =ay [x/y] 13 Gy
b’ = by [z 13
2,=[1/Xpgg 1/3=0.2191
by=—{1/Zpg ¥3=-0.08376,
n=Co0 )

Parame:
ter: N

120

\ >
-120 120

CIELAB D65 Co

Name and chromaticity

Rysree %=0,64 y=0,33 Mg

Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,,=10!
of the sSRGBcolour space for CO0

in chroma diagram (a*pgs, b*

-120

1-000030-L0O TE421-7A_1




XYZw=102.067 , 100.0 , 81. OGb* Parame-
a* =500 @' —a’,) Y13 X120 ter: N
b* =500 ' - b’y) Y3

a =ay [x/y]13

b’ = b, [z4]1/3 N

ay=[1/Xpgg] 13=0.2191° Ry
b,=—[1/Zpgg] 1/3=-0.08376 [0}

n = P00 . g P00 Re|&'pes
CIELAB D65 120 ¢4 120
Name and chromaticity Mg

Rdsrep X=0,64 y=0,33
Gy,sree X=0,30 y=0,60
Bysree X=0,18 y=0,06

Device and elementary coloursY,,=10!

Be

of the sRGBcolour space for POO T-120

in chroma diagram (a*p

, b*

1-000030-L0O

TE421-7A_1




XYZw=97.9332 , 100.0, 118. 95*
a* =500 @' —a’,) Y13 E
b* =500 ' - b'y) Y3

a’ =ap [xy]13 Gy Yd
b’ = by [z 13

2,=[1/Xpgd 1/3=0.2191
by=—{1/Z g ¥3=-0.08376,

n = Q00 | \

Parame:
ter: N

CIELAB D65
Name and chromaticity

Ry sree X=0,64 y=0,33
GgsreB X=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=10!

Be

r-120

of the sSRGBcolour space for Q00 b
in chroma diagram (a*pgs, b*

1-000030-L0O

TE421-7A_1



XYZw=94.8136 , 100.0 , 107.39%, -
a* =500 @' —a’,) Y13
b* =500 ' ~b'y) Y13
a' =, [xiy|18

b’ = b, [z4]1/3 Ca
2,=[1/Xpgd 1/3=0.2191
by=—{L/Zpee|3=-0.08376;
n = D65 ,

Parame:
ter: N

>
120 120

CIELAB D65

Name and chromaticity

Rysree x=0,64 y=0,33 Be My

Gg,sree *x=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=10!
of the sSRGBcolour space for D65 T -120
in chroma diagram (a*pgs, b*

1-001030-LO TE421-7A_1




XYZw=96.7256 , 100.0 , 81. 4lb*
a* =500 @' —a’,) Y13
b* =500 b’ - b'y) Y13
a =ay [x/y] 13

b’ = by [z 13 Gy
2,=[1/Xpgg 1/3=0.2191
by=—[1/Zpgg 13=-0.08376

Parame:
ter: N

120

n = D50 , G 6
-120 C4 120

CIELAB D65

Name and chromaticity Mg

Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,,=10!
of the sSRGBcolour space for D50

in chroma diagram (a*pgs, b*

Be

-120

1-001030-LO TE421-7A_1




XYZw=101.751, 100.0 , 64. 44b*
a* =500 @' —a’,) Y13

b* =500 b’ - b'y) Y13

a =ay [x/y] 13

b’ = by [z 13

2,=[1/Xpgg) 1/3=0.219
by=—[1/Zpge) 13=-0.0837

n = P40 )

&
i

Parame:
ter: N

Ry
P40

@

*
Qpss
S

:
— e

CIELAB D65 1208‘1

Name and chromaticity

Ry sree X=0,64 y=0,33

Gg,sree *x=0,30 y=0,60

Bg,sree X=0,18 y=0,06

Device and elementary coloursY,,=10!

of the sSRGBcolour space for P40
in chroma diagram (a*pgs, b*

B. @

120

r-120

1-001030-LO

TE421-7A_1




XYZw=111.15, 100.0, 35.19 %, -
a* =500 &' —a'p) Y3
b* =500 ' ~b'y) Y13
a' =ay [xy] 13

b’ = b, [z4]1/3
a,=[1/Xpge] 3=0.2191
by=—[1/Zpgd 1/3:—0(98
n = AOO

Parame:

F120 ter: N

CIELAB D65

Name and chromatlu

RysreB X=0,64 y—o 33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06

Device and elementary colour,SYW
of the sSRGBcolour space for AOO
in chroma diagram (a*pgs, b*

r-120

1-001030-LO

TE421-7A_1



XYZw=99.9908 , 99.9999 , 1048
a*=500 @ -a,) Y13 4
b* =500 p' - b',) Y13

a =ay [x/y] 13

b’ =b, [z 13 Gy
a,=[1/Xpgs]1/3=0.2191
by=—[1/Zped 13=-0.0837

n = E00 , e

Parame:
ter: N

r120

-120 ¢4
CIELAB D65
Name and chromaticity
Rysrea X=0,64 y=0,33
GgsreB X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,,=10!

Be

r-120

of the sSRGBcolour space for EOO b
in chroma diagram (a*pgs, b*

1-001030-LO

TE421-7A_1




XYZw=97.2866 , 100.0 , 116. lb*
a* =500 @' —a’,) Y13 E
b* =500 ' - b'y) Y3
a’ =ap [xy]13 Gy
b’ = by [z 13
2,=[1/Xpgd 1/3=0.2191
by=—[1/Zpsd 13=-0.08376,
n=Co00 |

Parame:
ter:

N

CIELAB D65

Name and chromaticity
Ry sree X=0,64 y=0,33
GgsreB X=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=10!

Be

r-120

of the sSRGBcolour space for CO0 T
in chroma diagram (a*pgs, b*

1-001030-LO

TE421-7A_1



XYZw=102.375 , 100.0, 81. 25b*

a* =500 @' —a’,) Y13 ]

b* =500 ' - b’y) Y3
a' =ay [xy] 13
b’ = by [z} 13
ay=[1/Xpgd 13=0.2191°
by=—[1/Zpgg 13=-0.08376
n = P00

Parame:
ter: N

r120

:
CIELAB D65 120 ¢4
Name and chromaticity

Ry sree X=0,64 y=0,33
GgsreB X=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=10!

Be

of the sSRGBcolour space for POO T-120
in chroma diagram (a*pgs, b*
1-001030-L0 TE421-7A_1




XYZw=97.65 , 100.0 , 118.42
a* =500 &' —a'p) Y3

b* =500 ' ~b'y) Y13

a’ =ap [xy]13 Gy Yd
b’ = b, [z4]1/3

a,=[1/Xpge] 3=0.2191
by=—{1/Z g ¥3=-0.08376,,
n = Q00 )

*
D65

Parame:
ter: N

A
-120 C4
CIELAB D65
Name and chromaticity
Ry sree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
Bg,sree X=0,18 y=0,06

Device and elementary coloursY,,=10!

of the sSRGBcolour space for Q00
in chroma diagram (a*pgs, b*

T-120

1-001030-LO

TE421-7A_1



